‘ \Z_
L(n.&\f\ LAy OP(’%M e cule

t
Cervns oot aar\ddaT OFT’%MQ'GULL

NeLs,  dudelerte L@
M&M‘ \C.U/L Ve \,‘U_c ¥ \(<O./u-vuu\~\<s<f

do¢ Ak e N dx}&\d-\b .

Qe oS

.

‘Q -
2o R
b) OV%M&GMMJ\“\“ .;_4 -
er  lhepre AN
— 38y
<
T
&\) Kankg&m\ A\ vl — P
3 ~ o o alper Tt
C WS
— 7 _g_,\_LVoJOJ-k
At ¥ 9 \%Z @
&Ko (o a2 * t‘bqg —
s ro.05 oy o Loos Z LAYe
ha skt

(35+ + 425) =

m~583+ (425 - S&?Z)" O.CT%




w-\

\nhervatl s =2 E - S

0.69%
q_d‘,(? \tc'\s(_u\\&r\/al.ﬁ, . 3& "_t 2"32 T\;_’
= %% £ 0.5%
E%'Q}) q'“’} = {2, 1)
Sy
1S Loak- l.:\,\<\!w.L\. . 38 % 226 1=
=3Y 04

C'S.oe) vl.s\-\"k — (;g.\)\\&’s

—

/—

n~\

‘(‘) ':FQ?MQN\(-Z&Q: T ? t"""" _t"<

t:d( G’Q-l%’l
kT> ,z.mq
Qb’zﬂfdﬂ‘)r Qerdy;
T‘-‘-‘ F>_< - ﬁ_A_o _ ’%% —-&2( ~ 2_66
Sl o5/ I< - R
5—1&\ Nz 206 (W & K %rhm&woqudﬁt/

bchd&x wa ﬂa .
"‘/—/

“4
= t 0.6




3) P o
T

SRSy

T > 2.06) ST\ e Trowde
= \— p(Tg20e e e

=\ - o,owe\ e Te=206
_~ o0oSt =51% N
‘—___/

§|M P?k \

S.4% Y/

behdds oo Yo .

2,

06

X 2%

I 77

N———-
EA

£1%



2.

ED Z~lek - \'\b?c%_n_\-%\ Qoc /V\
diy o =403 .ec L‘s""’%

_

Z_ > Za = Coos = Ve
_
Z = ZZKe 5 4dS

s o™

X f—/*,
T
Fa ~+ L(Jq< ’ /f a.0%

.—;<- > —
/\A/ o8 2 .64 - ip

— o 8d
< ¥(ore) < f(X>°3“‘ )’* i jg
= P ( .08 [T .08 /UiD

- (2> le4s) = 0,08




B (08%) = P (R voral Ik: . %%)

(. -a.3S o,Q‘(-—a.&-;;
P 0.2 AV, .0 V7>

= P (2> - o.'b’vﬂ/)
— @&(- O.%’I/> ~ 0.3

—_

7 (898) = p(x > 084\ p=oe)

L~ 030 6.24 - 0. 4D 1
= — v

=\ - Qp(—'l.'bo%) = 047

—_—



